2. OaHbl BekTopbl @ = 31 - 5] + kv b =] - 5k. Bouwcnute: a) ab; 6) ai;
B)by; r)(a+blk; a) (a - 2b) (k+1- 27).

PelieHne
Echrma=31-5+k, toa{3; -5; 1}.

Ecnvm b =3 - 5k, To b{0; 1; -57.

a) ab=30-51-51=-10;

0) 1{1;0; 0}, a1 =31-50+ 1-0 = 3;

B)]40; 1; 0y, b} =0-0+ 1-1 - 5-0 = 1;
N{a+blk=ak+bk k{0;0; 1},
(a+b)k=03+0(-5)+1-1+0-0+1-0-51=1-5=-4
aj{a-2b)(k+1+2))=ak+ai-2a j-b k-2bi1+4b
j=(3-0-50+1-1) + (3-1 - 5-0 + 1-0) - 2(3-0 - 5-1 + 1-0) - 2(0-0

+1.0-51)-2(0-1+1-0-50)+4(00+1-1-50)=1+3+ 10 +
10 + 4 = 28.



